Efficiency vs dr

0.05
<
9.045
30.04
c
(0]
'9.035
=
®0.03
0.025
0.02
0.015
0.01
0.005

_[—=— DQM_origmal_siep ar-phasel-newgeom
DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
BgM_pierCPETemplateCut hiSquareNew_step2_ttbar-phasel-newgeom

u
M_pixel CPETemplateCutChiSquareNew?Z_step?Z_ttbar-phasel-newgeom

o - g
..Euu

1072 107

=
S
w

1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.01
0.009
E
3.008
9.007
>
$9.006
2
359.005
@
0.004
0.003
0.002
0.001

Ratio

107 1072 107
AR(TP, jet)

Efficiency vs pu

5005 ———m8m————————————
& S SRR SO AUUN
O e S IS SRR E A S

G004 o e
[ E . : . . : :
F T R SO S
5 FEo : : : : :
0.0+ heee e fedee bbb
(Y7L HOR I O 38 N A
0.02F e fisendeis frovto i
e
0.025 oo fiee g b b i
0.008f -+ oo ¥t iy H oo
a| AP IR IR P PP o P R [
o <O :
e o b,
15F SR -
£ i,
0 90 100

Pileup



	Contents
	Page 1


